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QUESTION 1
SAP recommends that: Choose the correct answer(s). Response:

A. Project manager or person responsible for the transport (a limited number of users) are creating the transport
requests

B. Project members should always create their transport request by there own

C. The project members are assigned to the transport request by creation of tasks for each project member inside the
transport request

D. Project members are recording changes in their own task (assigned by the project manager or person responsible for
the transport request)

Correct Answer: ACD

QUESTION 2

You have developed repository objects for AS ABAP-based SAP systems. Your development work is being logged
within a transport request. What happens when you release your task in the Transport Organizer (transaction SEQ9) of
the development system? Please choose the correct answer.

A. Repository locks are released for the respective repository objects.

B. The repository objects can no longer be changed.

C. Object entries are copied into the object list of the transport request for the respective repository objects.

D. The export process starts.

Correct Answer: C

QUESTION 3

RAC overcomes the limitations of traditional failover solutions by providing... There are 2 correct answers to this
guestion.

A. Fast recovery

B. Load balancing

C. Concurrent processing

D. Fast and reliable detection of a node or network failure

Correct Answer: AC

QUESTION 4
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Which data sources are supported by the User Management Engine (UME) of AS Java? There are 3 correct answers to
this question.

A. The database of the AS Java

B. An UDDI provider

C. A client of an AS ABAP-based SAP system
D. A file on operating system level (secure store)
E. A Directory Server (via LDAP)

Correct Answer: ACE

QUESTION 5

Oracle database offers different types of indexes. Which are valid index types? There are 2 correct answers to this
guestion.

A. Bitmap index

B. Unique master index

C. Dictionary index

D. Balanced tree (B*tree) index

Correct Answer: AD

Latest C_ TADM54_75 C_TADMS54 75 Study Guide C_TADMS54_75 Braindumps
Dumps

Latest C_ TADM54 75 Dumps | C_TADM54_75 Study Guide | C_TADM54 75 Braindumps 3/3


https://www.pass4itsure.com/c_tadm54_75.html
https://www.pass4itsure.com/c_tadm54_75.html
https://www.pass4itsure.com/c_tadm54_75.html
https://www.pass4itsure.com/c_tadm54_75.html
http://www.tcpdf.org
https://www.pass4itsure.com/c_tadm54_75.html
https://www.pass4itsure.com/c_tadm54_75.html
https://www.pass4itsure.com/c_tadm54_75.html

